

Nome: João Pedro Junqueira S. de Morais

03/11/2020

NUSP: 10774437

PME3380 - Modelagem de Sistemas Dinâmicos

→ Exercício da Aula do dia 20/10/2020

$$1.1) \begin{bmatrix} \dot{x} \\ \dot{y} \end{bmatrix} = \begin{bmatrix} 0 & 1 \\ -100 & 0 \end{bmatrix} \begin{bmatrix} x \\ y \end{bmatrix} + \begin{bmatrix} 0 \\ 10 \end{bmatrix} u$$

⇓

$$\begin{bmatrix} sX(s) \\ sY(s) \end{bmatrix} = \begin{bmatrix} 0 & 1 \\ -100 & 0 \end{bmatrix} \begin{bmatrix} X(s) \\ Y(s) \end{bmatrix} + \begin{bmatrix} 0 \\ 10 \end{bmatrix} U(s)$$

⇓

$$\begin{cases} sX(s) = Y(s) & (1) \\ sY(s) = -100X(s) + 10U(s) & (2) \end{cases}$$

→ Substituindo (1) em (2): $s \cdot sX(s) = -100X(s) + 10U(s) \therefore X(s) \cdot (s^2 + 100) = 10U(s)$

$$\therefore X(s) = \frac{10U(s)}{(s^2 + 100)}$$

$$\rightarrow sX(s) = Y(s) \quad (1) \rightarrow \frac{s \cdot 10U(s)}{(s^2 + 100)} = Y(s) \therefore Y(s) = \frac{10sU(s)}{(s^2 + 100)}$$

$$\rightarrow \begin{cases} FT(x) = \frac{10}{(s^2 + 100)} \\ FT(y) = \frac{10s}{(s^2 + 100)} \end{cases}$$

①

$$1.2) \begin{bmatrix} \dot{x} \\ \dot{y} \\ \dot{z} \end{bmatrix} = \begin{bmatrix} -1 & 4 & 0 \\ 5 & 2 & 0 \\ -1 & 0 & -3 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix} + \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} u$$

$$\rightarrow \text{Auto-valores: } \det(A - \lambda I) = \begin{vmatrix} -1-\lambda & 4 & 0 \\ 5 & 2-\lambda & 0 \\ -1 & 0 & -3-\lambda \end{vmatrix} = 0 \therefore (-1-\lambda)(2-\lambda)(-3-\lambda) - 20(-3-\lambda) = 0$$

$$\lambda_1 = \frac{1 - \sqrt{89}}{2} ; \lambda_2 = -3 ; \lambda_3 = \frac{1 + \sqrt{89}}{2}$$

$$2.1) \text{ Equações: } \begin{cases} m_1 \ddot{x}_1 = U_1 - k(x_1 - x_2) \\ m_2 \ddot{x}_2 = U_2 - k(x_2 - x_1) \end{cases}$$

$$\rightarrow \begin{bmatrix} \dot{x}_1 \\ \dot{x}_2 \\ x_3 \\ \dot{x}_4 \end{bmatrix} = \begin{bmatrix} x_3 \\ x_4 \\ \frac{U_1 + k(x_2 - x_1)}{m_1} \\ \frac{U_2 + k(x_2 - x_1)}{m_2} \end{bmatrix}$$

$$\rightarrow \det(A - \lambda I) = \begin{vmatrix} -\lambda & 0 & 1 & 0 \\ 0 & -\lambda & 0 & 1 \\ \frac{k}{m_1} & -\frac{k}{m_2} & -\lambda & 0 \\ -\frac{k}{m_2} & \frac{k}{m_1} & 0 & -\lambda \end{vmatrix} = 0 \therefore \lambda^4 + \frac{k^2}{m_1 m_2} - \frac{\lambda^2 k}{m_1} - \frac{\lambda^2 k}{m_2} = 0 \therefore$$

$$\therefore \lambda^2 \left(\lambda^2 - \frac{k}{m_1} - \frac{k}{m_2} \right) + \frac{k^2}{m_1 m_2} = 0$$

$$\lambda_1 = -\sqrt{\frac{k}{m_1}} ; \lambda_2 = -\sqrt{\frac{k}{m_2}} ; \lambda_3 = \sqrt{\frac{k}{m_1}} ; \lambda_4 = \sqrt{\frac{k}{m_2}}$$

(2)